Sociology 3 Critical Thinking 

Note:  Before you begin this paper, be sure to read chapter 3 in Public Opinion on Social Issues (see reading list).  

Instructions for Paper 2—Attitudes towards abortion (40 points max)

The second paper will use the same data set that we used in Paper 1.  This is the data from the 2014 Pew Political Polarization survey conducted by the Pew Research Center.
  It was a large survey of approximately 10,000 adults living in the United States during the first three months of 2014.  It focused on political issues and a number of other issues such as religion, same-sex marriage, homosexuality, abortion, gun control and immigration. In this paper we are going to focus on religion and attitudes toward abortion.  As in Paper 1, variable A1 will be our dependent variable.  A1 asked respondents if they thought abortion should be legal or illegal in all or most cases.  The data have already been weighted to better represent the population of all adults in the United States during this time period.  The name of the data file is “pew_2014_subset_for_classes.sav” and it is on the SS202 Share and the S174 Share in both Social Sciences 202 and Science 176. Religious variables all start with the letter “R.” 

Part 1.  Religious preference and attitudes towards abortion
Religious preference classifies respondents according to the religion they currently identify with.  R1 classifies respondents as Protestant, Roman Catholic, other Christian,
 non-Christian and those who have no preference. 
  In this part of the paper we want to see if there is a relationship between respondents’ religious preference and how they feel about abortion.
Run a frequency distribution for R1.  Be sure to use the valid percents when answering the following questions.  (Make sure you know why.)  What does this tell you about the distribution of religious preference for adults in the continental United States?  What percent identify with a religion?  What percent have no religious preference?  What percent is Christian? 
Is there a relationship between religious preference and how people said they feel about abortion?  Your dependent variable is A1 since you are trying to explain why some people favor abortion and other people oppose abortion.  Make sure that you put the dependent variable in the row and get the appropriate percents (column). Interpret the table describing the relationship between religious preference and how people feel about abortion.  Be sure to use the column percents and chi square. Try to write three sentences to interpret the table.  The first sentence should summarize the pattern of the percents.  The second sentence should use the percents to illustrate the pattern.  Then you should write a third sentence indicating whether the relationship is statistically significant and what this means. 

Part 2.  Religiosity (how often attend religious services)
Religious preference indicates the type of religion that a person identifies with.  A person may identify with a religion and be very religious or not very religious.  Religiosity refers to the strength of a person’s attachment to their religious preference.  There are many ways to measure religiosity including how often they attend religious services, how often they pray, and how important their religion is to them.
In Part 2 we’re going to use how often they attend religious services (R4) as our measure of religiosity.  People are classified as often attenders (at least once a week or more often), sometime attenders (a few times a year to once or twice a month), and seldom or never attenders.  

Run a frequency distribution for R4.  What does this tell you about how often people attend religious services in the United States?
Is there a relationship between how often people attend religious services and how people said they felt about abortion?  Run the table in SPSS.  Make sure that you put the dependent variable in the row and get the appropriate percents (column). Interpret the table describing the relationship between attendance and how people said they felt about abortion.  Be sure to use the column percents and chi square in your answer. Try to write three sentences to interpret the table.  The first sentence should summarize the pattern of the percents.  The second sentence should use the percents to illustrate the pattern.  Then you should write a third sentence indicating whether the relationship is statistically significant and what this means. 
Part 3.  Born-again Christians

The variable R1 divides Christians into three groups – Protestants, Roman Catholics, and other Christians.  Often you also hear the term “Evangelical Christians.”  Evangelicals often focus on being born-again or having had a born-again experience.  Sometimes this is referred to as decision theology.  People are asked to make a decision for Christ.  Billy Graham is one of the well-known proponents of decision theology.  R2 in the 2014 Pew survey asks respondents if they “would describe themselves as a ‘born-again’ or evangelical Christian.”  
Since decision theology is primarily a Christian phenomenon we’re going to limit our analysis to people who say they are Christians.  

In order to focus only on Christians we’re going to use the “select cases” option in SPSS.  Here’s how to do it.

· Click on “Data” in the menu bar at the top of the screen.

· Click on “Select cases.”

· Select the option “If condition is satisfied” by clicking on the circle for that option.

· Click on the box with “if” inside the box.

· Enter the following into the big box on the upper right:  R1 = 1 | R1 = 2 | R1 = 3
     (Note that | is the symbol for “or”.)
· Click on Continue

· Click on OK

To check on whether you did this correctly, run a frequency distribution for R1.  Include this table in your paper.  You’re checking to make sure that you selected the cases correctly.  You should only see Protestants, Roman Catholics and other Christians in the distribution.  If you see any other groups you need to start over.  But before you start over, let’s make sure we are starting will all respondents.  Here’s how you do that.

· Click on “Data” in the menu bar at the top of the screen.

· Click on “Select cases.”

· Select the option “All cases” by clicking on the circle for that option.

· Click on OK.

Now that you are sure you have properly selected the Christians in the sample, let’s start by running the frequency distribution for R2.  What does this tell you about being an evangelical or born-again Christian in the United States?

Now let’s look at the relationship between religious preference (R1) and being born-again (R2)?  Run the crosstabulation in SPSS.  Since we want to compare different groups of Christians, let’s use R1 as our independent variable and R2 as our dependent variable.  Make sure that you put the dependent variable in the row and get the appropriate percents (column). Interpret the table by describing which groups of Christians are more likely to say they have been born-again.  Be sure to use the column percents and chi square in your answer. Try to write three sentences to interpret the table.  The first sentence should summarize the pattern of the percents.  The second sentence should use the percents to illustrate the pattern.  Then you should write a third sentence indicating whether the relationship is statistically significant and what this means.  Be sure to discuss which groups of Christians are more likely to say they have been born-again.
Finally let’s look at the relationship between being born-again and how people feel about abortion.  Run the table in SPSS.  Make sure that you put the dependent variable in the row and get the appropriate percents (column). Interpret the table describing the relationship between being a born-again Christian and how people said they feel about abortion.  Be sure to use the column percents and chi square in your answer. Try to write three sentences to interpret the table.  The first sentence should summarize the pattern of the percents.  The second sentence should use the percents to illustrate the pattern.  Then you should write a third sentence indicating whether the relationship is statistically significant and what this means.
Part 4.  Spuriousness (age as a control variable)
NOTE:  Be sure to read the short discussion of “spuriousness” which is on BlackBoard under Assignments/Paper 2 before starting this section of the paper.
In Part 2 of this paper we learned that how often people attend religious services is related to how people feel about abortion.  In parts 4 and 5 of this paper we’re going to check to see if this relationship might be spurious.  In Part 4 we’re going to see if it is spurious due to age. 
Let’s start by looking again at the relationship between how often people attend religious services (R4) and attitude toward abortion (A1).  Copy the crosstabulation from Part 2 into Part 4 so you will have it for easy reference.  You will need to compare this table to the three-variable table that you will run in Part 5.  
Before we start we need to make sure that we are using all religions and not just the three religious groups that we selected out for Part 3.  Here’s how we’re going to do that in SPSS.

· Click on “Data” in the menu bar at the top of the screen.

· Click on “Select cases.”

· Select the option “All cases” by clicking on the circle for that option.

· Click on OK.

Recall that for a relationship to be spurious, the control variable must be related to both the independent variable and the dependent variable.  So let’s start by seeing if our control variable, age (D2R1), is related to both our independent variable (R4) and our dependent variable (A1).  
Run two tables.  The first table will have D2R1 as your independent variable and R4 as your dependent variable.  The second table will have D2R1 as your independent variable and A1 as your dependent variable.  Be sure to get the appropriate percents and Chi Square.  Are younger or older respondents more likely to favor abortion?  Are younger or older respondents more likely to attend religious services?  Use the percents and chi square in your answer.  
Now we know that age is related to both how often respondents attend religious services and how they feel about abortion.   This raises the possibility that the relationship between how often people attend religious services and how people feel about abortion may be spurious due to age.
To check on the possibility of spuriousness, you will need to run a three-variable table with R4 as the independent variable, A1 as the dependent variable, and D2R1 as the control variable.  

Write a paragraph describing what happened in your three-variable table when you controlled for age.  Compare the two-variable table that you ran in Part 2 and copied into Part 4 with the partial tables in your three-variable table.  Focus on the effect that controlling for age had on the relationship between your independent and dependent variable.  What does this tell you about the possibility of the relationship being spurious?  Be sure to clearly indicate what it means for a relationship to be spurious in your answer.   Use the percents and Chi Square in your answer.
Part 5.  Spuriousness (sex as a control variable)
Just because a relationship is not spurious due to one variable, doesn’t mean it might not be spurious due to another variable.  In this part of the paper we’re going to see if it is spurious due to sex.  Let’s proceed in the same way that we did in Part 4.  

You copied the crosstabulation from Part 2 into Part 4 so you had it for easy reference.  Copy it again into Part 5.  Just as you did in Part 4, you will need to compare this table to the three-variable table that you will run in Part 5.  

Run two tables.  The first table will have D1 as your independent variable and R4 as your dependent variable.  The second table will have D1 as your independent variable and A1 as your dependent variable.  Be sure to get the appropriate percents and Chi Square.  Are men or women more likely to say they attend religious services?  Are men or women more likely to favor abortion?  Use the percents and chi square in your answer.  
Now we know that sex is related to both how often people attend religious services and how they feel about abortion.   This raises the possibility that the relationship between church attendance and how people feel about abortion may be spurious due to sex.
To check on the possibility of spuriousness, you will need to run a three-variable table with R4 as the independent variable, A1 as the dependent variable, and D1 as the control variable.  

Write a paragraph describing what happened in your three-variable table when you controlled for sex.  Compare the two-variable table that you ran in Part 2 and copied into Part 5 with the partial tables in your three-variable table.  Focus on the effect that controlling for sex had on the relationship between your independent and dependent variable.  What does this tell you about the possibility of the relationship being spurious?  Be sure to clearly indicate what it means for a relationship to be spurious in your answer.   Use the percents and Chi Square in your answer.
Part 6.  Conclusion

Write a brief summary of what you have learned about the relationship between religion and how people said they felt about abortion.  Be sure to include all aspects of religion (i.e., religious preference, religiosity, and being born-again).  Make sure that you cover all the main points of your paper and that the summary is clear. Be sure to include spuriousness in your answer.

Summary of your paper

Here is what you are going to hand in for your second paper.

1. For Part 1 hand in the frequency distribution for R1 and answer the questions referring to the frequency distribution found in Part 1.  

Also, hand in the crosstabulation of R1 and A1 and your interpretation of the table.  Be sure to use the appropriate percents and chi square.  Write two sentences describing what the table tells you.  One sentence should describe the pattern of the percents and the other sentence should use the percents to illustrate the pattern. Write a third sentence indicating whether the relationship is statistically significant and what this means.  


2. For Part 2 hand in the frequency distribution for R4 and answer the question referring to the frequency distribution found in Part 2.  

Also, hand in the crosstabulation of R4 and A1 and your interpretation of the table.  Be sure to use the appropriate percents and chi square.  Write two sentences describing what the table tells you.  One sentence should describe the pattern of the percents and the other sentence should use the percents to illustrate the pattern. Write a third sentence indicating whether the relationship is statistically significant and what this means.  


3. In Part 3 you selected out those respondents who are Christian (1 or 2 or 3 on R1) and used only those cases for the tables in Part 3.  Follow the instructions in Part 4.  Hand in the frequency distribution for R2 and answer the questions found in Part 3.  Be sure to use the percents in your answer.  

We also would like to know which Christian groups (Protestants, Roman Catholics, other Christians) are more likely to say they are born-again Christians.  Hand in the crosstabulation of R1 and R2 and your interpretation of the table.  Be sure to use the appropriate percents and chi square.  Write two sentences describing what the table tells you.  One sentence should describe the pattern of the percents and the other sentence should use the percents to illustrate the pattern. Write a third sentence indicating whether relationship is statistically significant and what this means.  Be sure to discuss which groups of Christians are more likely to say they have been born-again.  Use the percents in your answer.

Finally we want to know if there is a relationship between being born-again and how people feel about abortion.  Hand in the crosstabulation of R2 and A1 and your interpretation of the table.  Be sure to use the appropriate percents and chi square.  Write two sentences describing what the table tells you.  One sentence should describe the pattern of the percents and the other sentence should use the percents to illustrate the pattern. Write a third sentence indicating whether the relationship is statistically significant and what this means.  

Be sure to select out the respondents that are Christian.  See the instructions in Part 3.  
4. Part 4 is the first time we have used a table with three variables.  The goal in this part is to check for spuriousness.  For Part 4 you will hand in the following.  Before you run the tables, make sure you have selected all the cases following the instructions in Part 4.
a. Copy the crosstabulation for R4 and A1 from Part 2 into this section of your paper.
b. Hand in two crosstabulations.  One is for D2R1 and R4.  The second is for D2R1 and A1.  Use appropriate percents and Chi Square.  Interpret the table. Be sure to discuss why you ran these tables.
c. Crosstabulation for R4 (independent variable) and A1 (dependent variable) and D2R1 (control variable).  Use appropriate percents and Chi Square.  Interpret the table.

d. Discussion of spuriousness.

5. In Part 5 the goal is also to check for spuriousness.  For Part 5 you will hand in the following.  
a. Copy the crosstabulation for R4 and A1 from Part 2 into this section of your paper.
b. Hand in two crosstabulations.  One is for D1 and R4.  The second is for D1 and A1.  Use appropriate percents and Chi Square.  Interpret the table. Be sure to discuss why you ran these tables.
c. Crosstabulation for R4 (independent variable) and A1 (dependent variable) and D1 (control variable).  Use appropriate percents and Chi Square.  Interpret the table.
d. Discussion of spuriousness.

6. For Part 6 write a brief summary of what you have learned about the relationship between religion and how people said they felt about abortion.  Be sure to include all different aspects of religion (i.e., religious preference, religiosity, being born-again).   Make sure that you cover all the main points of your paper and that the summary is clear. Be sure to include a discussion of spuriousness in your answer.

Be sure to include all parts of these instructions. 
Notes on Preparing your Paper:

Your paper should be prepared using a word processor.  Double space the paper.  Use one-inch margins and 12-point type.  Number the pages.  Organize the paper by parts.  Use the part number as the heading for each subsection.  Please do not put your paper into any type of binder.  Just staple your paper together.

The papers will be read and graded by the instructor using several criteria.  These criteria include the extent to which the papers use and show understanding of how to construct and interpret tables including spuriousness.  Other important criteria are the extent to which the paper is logically organized and the quality of your writing.

� Note that this is not the original data set from Pew.  I have subsetted the variables, recoded some variables, created some new variables, and renamed the variables.  The original data set can be downloaded at � HYPERLINK "http://www.pewresearch.org/data/download-datasets/" �http://www.pewresearch.org/data/download-datasets/� .


� Includes Orthodox Christians (Greek, Russian and other orthodox churches) and those who say they are Christian without specifying further.


� Includes those who say they are atheist, agnostic and those who say they are nothing in particular.


� Note that if you closed SPSS after doing Part 3 the program will automatically cancel out your selection of certain cases for analysis and you will start with all the cases when you open SPSS again.
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